

N/A	ms: Freight Terms: N/A TE: ADDITIONAL TERM	Ship Via: N/A S AND CONDI ⁻	PCC: E TIONS MA	PO Date: 05/15/2025 Y BE LISTED AT	PO End Date: THE END OF THE	PO Method: DG PURCHASE C	Dispatch Via Print	Rev Dt:
Vendor:	RICOCHET PROMOTION DBA RICOCHET PROMO PO BOX 2851 PFLUGERVILLE TX 7869 United States	DTIONS		Ship To:	4 A	Texas Workforce Commission 4800 N LAMAR BLVD AUSTIN TX 78756 United States		
					Bill To:	Ą	PPO@twc.texas.gov or	
Purchaser:	1464394915 004 MaryLou Ochoa					1 R A	exas Workforce Commis 01 E 15TH ST RM 470 JUSTIN TX 78778-0001 Jnited States	sion
Phone: Fax: Email:	marylou.ochoa@twc.texa	s.gov						Submission
34 TEX. AD Per Ricoche By acceptar order. Delivery Ter TWC Conta Name: Latoy Tel: (512) 3/ E-mail: latoy Vendor Con Name: Rico Tel: (888) 5/ E-mail: denr Submit invoi must include Change ord	PO Information: 34 TEX. ADMIN. CODE § 20.82(b)(1); Competitive bidding is not required for purchases of \$10,000 or less. Per Ricochet Promotions corresponding Quote No. 11593 dated 04/29/2025. By acceptance of this purchase order, Vendor agrees that only TWC Standard Terms Conditions Revised 02/19/2025 (ATTACHMENT I) apply to this							

PLEASE SHIP TO: Criss Cole Rehabilitation Center ATTN: LATOYA JACKSON 4800 N. LAMAR BLVD Bldg. 1 AUSTIN, TX 78756

Signature on File



Procurement and Contracts Business Unit # 320AD Purchase Order # 25-0003281

Line-Sch: 1-1	Line Description: Item # MPE02 NYX PROFESSIONAL MAKEUP Mechanical Eye Pencil, Vivid Rich Mechanical, Creamy Retractable Eyeliner - Always Onyx, Black Eyeliner Color: Always Onyx; Size: 0.25 x 0.25 x 5 c0 instant 0.25 curean	PCA: 13060	Class/Item: 855/60	Quantity: 16.0000	UOM: EA	Unit Price: \$7.28000	Extended Amt: \$116.48	Due Date: 05/23/2025
	5.62 inches; 0.35 ounces				<u>ReqID:</u> 000005	1860	Schedule Total	\$116.48
						Item	Total for Line # 1	\$116.48
Line-Sch: 2-1	Line Description: Item # 10037000499661 Tide To Go Stain Remover Wipes for Clothes, Instant Laundry Travel Stain & Spot Remover, 3 Pack, (30 Wipes Total) Color:	PCA: 13060	Class/Item: 505/88	Quantity: 10.0000	UOM: EA	Unit Price: \$13.74000	Extended Amt: \$137.40	Due Date: 05/23/2025
	Orange, Blue, White				<u>ReqID:</u> 000005	1860	Schedule Total	\$137.40
						Item	Total for Line # 2	\$137.40
Line-Sch: 3-1	Line Description: Item # B0DQY3DRSR Kaely Single Cream Eyeshadow Pot, Rose Shimmer Highly Pigmented Monochrome Eye Shadow Palette Makeup, Waterproof Natural Mini Eyeshadow Brightener, sombras en crema para ojos, Blendable, 27 (Rose Shimmer) Color: Rose	PCA: 13060	Class/Item: 855/60	Quantity: 5.0000	UOM: EA	Unit Price: \$8.74000	Extended Amt: \$43.70	Due Date: 05/23/2025
	Shimmer				<u>ReqID:</u> 000005	1860	Schedule Total	\$43.70
						Item	Total for Line # 3	\$43.70



Procurement and Contracts Business Unit # 320AD Purchase Order # 25-0003281

Line-Sch: 4-1	Line Description: Item # 0309977641071 Revlon Crème Eyeshadow, ColorStay 24 Hour Eye Makeup, Highly Pigmented Cream Formula in Blendable Matte & Shimmer Finishes, 715 Espresso, 0.18 Oz Color: Espresso	PCA: 13060	Class/Item: 855/60	Quantity: 16.0000	UOM: EA	Unit Price: \$7.43000	Extended Amt: \$118.88	Due Date: 05/23/2025
	Espresso				<u>ReqID:</u> 000005	1860	Schedule Total	\$118.88
						Item	Total for Line # 4	\$118.88
Line-Sch: 5-1	Line Description: Item # 0309977641071 wet n wild MegaGlo Makeup Stick, Buildable Color, Versatile Use, Cruelty-Free & Vegan - When the Nude Strikes Color: When the Nude Strikes	PCA: 13060	Class/Item: 855/60	Quantity: 16.0000	UOM: EA	Unit Price: \$5.48000	Extended Amt: \$87.68	Due Date: 05/23/2025
					<u>ReqID:</u> 000005	1860	Schedule Total	\$87.68
						Item	Total for Line # 5	\$87.68
Line-Sch: 6-1	Line Description: Item # HC004 HH&LL Hair Clips for Women ¿ Wide Teeth & Double-Hinged Design ¿ Alligator Styling Sectioning Clips of Professional Hair Salon Quality - 10Pack (Mixing)	PCA: 13060	Class/Item: 652/43	Quantity: 8.0000	UOM: EA	Unit Price: \$6.24000	Extended Amt: \$49.92	Due Date: 05/23/2025
	Color: Various				<u>ReqID:</u> 000005	1860	Schedule Total	\$49.92
						ltem	Total for Line # 6	\$49.92



Procurement and Contracts Business Unit # 320AD Purchase Order # 25-0003281

Line-Sch: 7-1	Line Description: Item # Amariver-Beauty- B2012 Eyebrow Stencils, Eyebrow Template, Eyebrow Shaping Kit,8 Styles Reusable Eyebrow Stencil with Handle and Strap, Washable Color: Purple	PCA: 13060	Class/Item: 855/60	Quantity: 5.0000	UOM: EA	Unit Price: \$7.21000	Extended Amt: \$36.05	Due Date: 05/23/2025
					<u>ReqID:</u> 000005		Schedule Total	\$36.05
						Item [·]	Total for Line # 7	\$36.05
Line-Sch: 8-1	Line Description: Item # C158 wet n wild Mega Length, Vitamin E Enriched Lengthening, Moisturizing, Softening Formula Precision Comb Brush, Cruelty-Free, Gluten-Free, Sulfate-Free & Vegan - Very Black	PCA: 13060	Class/Item: 855/60	Quantity: 10.0000	UOM: EA	Unit Price: \$4.10000	Extended Amt: \$41.00	Due Date: 05/23/2025
	Color: Very Black				<u>ReqID:</u> 000005	1860	Schedule Total	\$41.00
						Item [·]	Total for Line # 8	\$41.00
Line-Sch: 9-1	Line Description: Item # Black 2-IN-1 Eyebrow Pen iMethod Eyebrow Pen - Eyebrow Pencil Magical 2-in-1 Eye Brow Pencils for Women with 4-Fork-Tip & Precise Brush-Tip Create Natural Hair- Like Brows, Last All- Day, Microblading Eyebrow Pen, Black Color:	PCA: 13060	Class/Item: 855/60	Quantity: 5.0000	UOM: EA	Unit Price: \$18.71000	Extended Amt: \$93.55	Due Date: 05/23/2025
	Black				<u>ReqID:</u> 000005	1860	Schedule Total	\$93.55
						Item ⁻	Total for Line # 9	\$93.55



Line-Sch: 10-1	Line Description: Item # 21723 e.l.f. Instant	PCA: 13060	Class/Item: 855/60	Quantity: 5.0000	UOM: EA	Unit Price: \$3.53000	Extended Amt: \$17.65	Due Date:
	Lift Brow Pencil, Dual- Sided, Precise, Fine Tip, Shapes, Defines, Fills Brows, Contours, Combs, Tames, 0.006 Oz, Deep Brown, 1 Count Color: Deep Brown	10000		0.0000	<u>ReqID:</u> 000005		Schedule Total	05/23/2025 \$17.65
						Item To	otal for Line # 10	\$17.65
						т	otal PO Amount	\$742.31

All Shipments, Shipping papers, invoices and correspondence must be identified with our Purchase Order Number. Over shipments will not be accepted unless authorized by Purchaser prior to Shipment.

IMPORTANT CONDITIONS OF ORDER

This will be your authority to deliver, in accordance with instructions above and the terms of any existing contract agreement, accepted informal bid or quotation, the articles or services listed below. Containers, invoices and correspondence relative to this order must bear the purchase order number. Unless otherwise stipulated, freight charges are included in the unit price. If we previously agreed to pay transportation charges, shipments are to be made prepaid FOB destination and charges added to the invoice.

* PAYMENT cannot be made until ALL items on this order are received, inspected and accepted unless we previously agreed to a partial payment.

* ALL Invoices MUST match this PO by Line Number, Description, Quantity, Amount and include Delivery Date for Prompt Payment.

* Purchase subject to TWC Terms and Conditions (Attachment I).

The State of Texas is exempt from all Federal Excise Taxes.

Tax Exempt ID -742764775.

STATE and CITY SALES TAX EXEMPTION CERTIFICATE: The undersigned claims an exemption from taxes under Texas Tax Code, Section 151.309(4), for purchase of tangible personal property described on this numbered order, purchased from contractor and/or shipper listed above, as this property is being secured for the exclusive use of the State of Texas.